=4 : $£2E VYakebi Classic

BRH: 959>v99
Hft : 201344868

BFRAVEI5R
TAJ 1st Run 2nd Run Total Time
NEGL| £ iy K4 =8 957 Time Penalty Time Penalty Point
B 4 #[GatelJumd 5 ¥ |GatelJump) i
1| 236|AH EX BHEMAEX-977°  [1:26.85 2 1:28.85
2| 232|1kRE fRth SFRRE-977 1:30.42 0 1:30.42
3 233|116k B TEAM4Hk 1:30.63 3 1:33.63
4| 237\ RER 742 1:34.76 0 1:34.76
5 231 |85 4 THITLI=Hb—Yu)" [1:36.57 1 1:37.57
6| 235|F EIZ 1:35.68 2 1:37.68
DNS| 234|B& K# AEE DNS DNS
TFRA DS R
TAJ 1st Run 2nd Run Total Time
NE4L| £ iy K4 =8 957 Time Penalty Time Penalty Point
&5 4 #|Gate[Jumd 5 #|Gate[Jump) S B
11 222|F% &R 1:48.01 1 1:49.01
2| 221|E+E B 1:52.45 8 2:00.45
RAVERIRBZ—I SR
TAJ 1st Run 2nd Run Total Time
NEGL| £ by K4 =8 957 Time Penalty Time Penalty Point
= 5 #|GatelJump 5 #|Gate[Jump) 2
1| 21388 —5 BASC 2:06.90 4 2:10.90
RAVMTSVERREI—I SR
TAJ 1st Run 2nd Run Total Time
NE4L| £ iy K4 =8 957 Time Penalty Time Penalty Point
&E55 4 #|GatelJumg 4 #|GatelJump 5
1 212|mF RIE L9 7-2" |1:58.55 3 2:01.55
2 21| K E— S48 2:00.70 2 2:02.70
BFEXF—4U35X
TAJ 1st Run 2nd Run Total Time
NE4z| £ iy K% -3 957 Time Penalty Time Penalty Point
= > #|GatelJump 5 #|Gate[Jump) S B
1| 203|FE#E MF 1:31.75 7 1:38.75
2| 204(@TEA HHE 1:42.32 6 1:48.32
3| 202|/nL ZAI ST 1:53.39 1 1:54.39
XFEX+—U35X
TAJ 1st Run 2nd Run Total Time
NEGL| £ iy K4 =8 957 Time Penalty Time Penalty Point
B 4 #[GatelJumd 5 ¥ |GatelJump) i
1| 201K #|F 2:08.44 7 2:15.44
2




